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Find the Greatest Common Factor of the terms.

42x3

27x?

The GCF is 3x?

Factors of 42 are all numbers that

will divide 42 exactly:
Factors of 42: 1,2,[3]6,7, 14, 21

Factors of 27:

9,27

3 is the 6CF

Factors of x3:
Xxx=x°

Factors of x?:

x? is the GCF




image2.png
Find the Greatest Common Factor of the terms.
49x2 Factors of 49: 1,49
21y? Factors of 21: 1, 3[7]21
7 is the GCF

The 6CF is 7
Factors of x? = xx

Factors of y? = yy
NO GCF
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Find the Greatest Common Factor of the terms.

64m’n Factors of 64: 1,2, 4[8]16, 32, 64
24mn Factors of 24: 1,2, 3, 4, 6[8]12, 24
8 is the GCF

Factors of m*n = mnmi]

Factors of mn

mn is the GCF
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Find the Greatest Common Factor of the terms.

18ab Factors of 18:1,2, 3,6, 9,18

28ac Factors of 28:1,2,4,7,14, 28

32abc Factors of 32: 1,2, 4,8, 16, 32
2 is the GCF

Factors of ab =[ap
Factors of ac =@
Factors of abc =@bc

a is the 6CF (a is the only thing
they all have)




